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NAME ______________________________________________  Date due:  ________________________
REWIND AND REMEMBER #5 (Acc)

You must turn this in for a grade! (20 points)
1)        Combine like terms:      2x  - x +6y + 3x – 2x(x – 7x) =

2)       Apply distributive property:      5f(f + 12 – 2e) =
3)       5
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4) If an irregular quadrilateral has 120ᵒ , 60ᵒ , and 70ᵒ angles, what is the  measure of the fourth angle?

5) Solve for abc - b
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+ bc – a         when a = -1, b = -2, and c = -3

6) Describe the different cross sections of a triangular pyramid?

7) 149 – (2
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8) Give a simplified expression for the perimeter and area of this figure and then tell what the perimeter and area would be if x = 3.2, 5.6 and 7.2.   Round all answers to the nearest hundredth.



9) Identify the property shown:   (5 + 6) + 12 = 5 + (6 + 12) 

10) Apply distributive property:      –
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